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1. {20%) Suppose low-income people have preferences for nonfood consumption (NF) and
for food consumption (F). In the absence of any income transfer programs, a person’s
budget constraint is given by

~ NF+PeF =1
Where Py is the price of food relative to nonfood items and NF and I are measured in
terms of dollars.

a. Graph the initial utility-maximizing situation for this low-income person.

b. Suppose now that a food stamp program is introduced that requires low-income people to
pay C (measured in terms of nonfood prices) in order to receive food stamps sufficient to
buy F* units of food (presumably PeF*>C). Show this person’s budget constraint if he or
she participates in the food stamp program.

2. (30%)Suppose there are two firms selling ice cream cones ina small town. The
prices charged by the firms are given by P and P>.  Because the firms sell
different types of cones, their goods are only partial substitutes for one another.
The demand facing firm I is given by

Qi=10-P;+05P;
And that facing firm 2 is
Q=10-P+05P
Both firms have a constant marginal cost of $2 pet cone.
a.  Suppose each firm sets a price equal to marginal cost. How many cones
" will each sell and what will each firm’s profits be?
b. Please find the Cournot equilibrium Py, Py, Qi, and Q; for this market.
Suppose the two firms merged. What pricing policy would maximize
their total joint profits? (Assume they should each charge the same price.)
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L (25%) Taiwanese government decides to implement a series of projects (8100 &) to
stimulate aggregate demand. Please use Mundel]-F leming model to answer the following
Questions based on the given information,

A. Will the output and interest tate are going to change if Tajwan is currently under the
flexible exchange rate regime?

B. Taiwan is considered as highly integrated with international capital market, Please
consider the effectiveness of expansionary fiscal policies under the two cases: relatively
high capital mobility and relatively low capitai mobifity.

2. (25%) If negative shock hits domestic economy, then please apply AD-AS model to answer
following questions
A. Will the output be Breater or less than the natural output?
B. Will price level change?
C. If government decides not implementing any policy to change the situation, then how
cconomy moves back to natural output, by what forces?
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